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altormatives and write option code and the corresponding answer.
Which of the following lens would you prefer to use while reading small letters
found In a dictionary?

A convex lens of focal length 5 cm  b) A concave lens of focal length 5 cm
€) A convex lens of focal length 10 em  d) A concave lens of focal length 10 em
In & simple circult, why does the bulb glow when you close the switch?

a) The switch produces electricity. (®pClosing the switch completes the circuit,
€) Closing ther switch breaks the circuit.  d) The bulb Is getting charged.
Velodity of sound In the atmosphere of a planet Is 500 ms*', The minimum distance
between the sources of sound and-the obstacle to hear the echo, should be
a)17m b)20 m €25 m d)S0m

Which of the following has the smallest mass? a) 6.023 x 10” atoms of He

01 alomof He  ¢)2gofHe  d) 1 mole atoms of He
group contains the member of halogen family,

@1 b) 15th c) 18 d) 16th
Which of the following Is not an “element + element *| compound” type reaction?
Q?CUW) + &2(9) - 2((.03(9 d) 4Fe(g) + 302(0) =-=> 2Fe;04(s)
he brain of leech lies above the .
a) Mouth b) Buccal Cavity  €)) Pharynx d) Crop

Which one of the following Is an IUCD?

Copper - T b) Oral pills c) Diaphragm d) Tubectomy
he centromere Is found at the centreofthe _____ chromosome.
a) Telocentric PMetacentric ¢) Sub-metacentric d) Acrocentric
Pusa Komal Is a disease resistant variety of .
a) Sugarcane b) Rice @ Cow pea d) Maize
Tobacco consumption is known to stimulate secretion of adrenaline, The = '
component causing this could be

&6l (Education On

¢ Icoting b) Tannic acid ¢) Curcumin  d) Leptin www.kanimathe.con
he gas released from vehicles exhaust are You Tube : Kani i\

I. Carbon monoxide I, Sulphur dioxide e

i, Oxides of nit
a)land il b)iand il c) land COl, land i =

Note: Answer any seven questions, Question No.22 |
Wikie catching a cricket ball the fielder lowers his hands backwarg CrY:
‘wwr:'l are the causes of 'Myopla‘? owers his hands backwards. Why?
oL It rust? Give the equation for forma
c'““"\' the 'Io""wlnq rf tion of rust.

substa
Con.Sulphuric acid, 9 nces Into deliquescent,

hygroscopic.
and Epsum sait " COPPCr Sulphate pentahydrate, Silica gel, Calciom chloride

Identify the parts AB,C,D.
In the given figure,
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1N Why Is the Sinoattial node colled the pacamaker of heart?

o Wt i the role of parathormone?
o Dastinguish botwveei somatic gone therapy and germ line gene therapy

31 What s Sprite ! | I.
‘ LI pxperienies one u - docay and ohe P - decoy, Find number of 7 trons In

w nucleus that lu formetd,
PART = I
Noto: Answaer any saven quastions, Quastion No.32 ls compulsory.
23, (1) Classily the types of force baswd on thelr application, 7X4 =28
a upace shuttle?

L L]
the Tinal doaughte

(i) How does an astronaut foat In
24 (1) Whaot Is refractive induex?

(1) Why does the sky appear In blue colour?
25. (1) State Joule's low of heating,

(1) An alloy of nickel and chromium Is used as the heating element, Why?

26 (1) Match the following s (E ducation Only)
1. Blue vitriol - CaS0, 2H;0 ww-.q.k:m'lmath'-"com |
2. Gypsum - Ca0 ; | Maths
3. Deliquescence - CuS04 .5H0 You Tube: flant fadin

4, Hygroscople = NaOH (1) Fill In the blanks

1. The normal pH of human blood Is

2. Chemical volcano Is an example for
27. Glve the balanced chemical equation of the following reactions:

(1) Neutrolization of NaOH with ethanolc acid.

(1) Combustion of ethanol.
25, Dellie Ethnobotary and write Its importance.
S0 yscps he bnportance ol ».echnology In the field of medicine.
50, wiferendute beveen Type-a and Type-2 diobetes mellitus

31. What are the consequences of soll erosion?
42, tlclam b % cf Hrygen in ALL(SO,)y (Atomic mass: Al-27, 0-16, S -32)

type of reaction

PART - IV
Note: Answer all the questions. Draw diagrams wherever necessary.
33. (a) (i) State and prove the law of conservation of linear momentum. 3 X 7 =21
(if) State Boyle's law. (OR)
(b) (1) What do you understand by the term ‘ultrasonic vibration™?
(li) State three uses of ultrasonic vibrations.
(iif) Name three animals which can hear ultrasonic vibrations.
34. (a) (i) What are the methods used to prevent corrosion?
(i1) Define Hydrated salt. (OR)
(b) (1) The electronic configuration of metal A is 2, 8, 18, 1. The metal A when
exposed to alr and molsture forms B d green layered compound. A with con.
H,S0,forms C and D along with water. D is @ gaseous compound. Find ABCang
D. (11) Why does the reaction rate of 3 reaction increase on raising the temperature?
35. (a) (1) Wnite a short note on mesophyll.
(1) How are arteries and veins structurally different from one another?
(i) What does CNS stand for? (OR)
(b). (1) Write the events involved in the sexval reproduction of a flowering pig !]IQ
2. Discuss the first event and write the types.
b. Mention the advantages and the disadvantages of that event.

(i) Which acts as a link between the nervous system and endocrine system?
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